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Do you agree or disagree with the following statement? Working at home using
computers or telephones is better than working in the office.
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Do you agree that the government should support the scientific research even there’s
no practical use?
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Reading passage ¥iT.rex XA &R IEREM, JRIA:

1 Mz H A PRI &3

2 B R R —F .

3 RIMAA FUEBIIRER, AN B, i AR Bk, BT AR AR
Speaker BEAFIE T, ik 1, WZIERIRESY, KACSTIHE, fRERE
FHIRIE. 2, 58 BARKMFER—F, H2ukEMRES. 3, TR
LA, F5001R .

IRYRST(E
W41 Do you agree with the following statement? In a team, those who do not accept
others’ criticism can not succeed.

WA 2 Do you agree with the following statement? People holding different views
cannot achieve success as ateam..
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Do you agree that people should have hobbies and do physical activities that are very
different from one's work?
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ST E A
For successful development of a country, should a government focus its budget more
on very young children education rather than on universities?
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It is only worth watching movies that can teach us something about real life, agree or
disagree?
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Do you agree or disagree with the following statement? People who have learned
many different skills are more likely to succeed than those who focus on learning only
one skill.
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Reading:

Narswhal, a species of whale. It has husk, which may have three functions.
First, tusk is used to pierce through the ice sheet. So narswhal can breathe.
Second, tusks are used as weapon, attacking other whales.

Third, tusk is used to sense the ocean properties such as pressure, temperature.

Listening:

Disagree. Each argument has its weakness.

First, tusk will bend under pressure. It istoo flexible to break the ice. Ice sheets break
by themselves.

Second, tusking is a unique for them to communicate with other narswhal. Closer
observers found that Narswhal use their tusks to gently rub other narswhals.

Third, all of male Narswhals have husks, but only afew of females have husks. But
females live longer than males.

RVACTE(ER

Do you agree or disagree with the following statement? If you need to discuss
upsetting or controversial problems with others, Using e-mail/text messaging is better
than using telephone/voi ce-messaging.
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JEWHR:  It’s about the cities' congestion pricing policy; the reading is in the positive
attitude: 1.time saving 2.good for the environment 3.considerable revenue.
While, the speaker refutes the three points one by one.

RVACE(ER
Agree or disagree? If child want to do well in school, parents should limit the hours of
watching TV programs or movies.
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17 EA4E © Do you agree or disagree with the following statement? The best way to
improve the quality of education is to increase teacher’s salaries.
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